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Heshing ane

A} action plans

B} dunctionat oblectives
{) srategic plans

) all ofthe above

Continuous production is typicaily uscd

A) toproduce gne item 2t a time

B] for precessing many different jobs

) o produce high-volume standardized products
) forvery high-volume commwodity products

Int decision analysis, the critericn which will result ma
pessimistic decigion is

A} minimax regret

B}  meximax

C} maximia

D) eqally liksly

In desigion theory, "sxpecied value of perfect information” is
the
AJ
B}
.
5]

pvemage expecied payofl

vabue of & decision given perfect informastion

yalue of o decizion withaut perfeet infommation
meximum value a decision maker is willing In pay o
purchass petfect nforinalion

Which of the following sta.tr.m:m is trag concerning decision

ees? .. .

A) - The squars nodus rcprm-.nt states of nature.

B) The cimle nitdes mpresent decizions,

) Decision irses are graphical methods for analyzing a
single decision situation '

) Decision irees atlow the decigion imaker 1o 546 the logic of

dmismn makm;g

When applymg the Herwicz criterion, if the coefficient of
optimism is 144, then the degision will alweys be identical ta
the -

A) -maximax eriterion

B} maximin criterion

) winimas regred cribsmon

D) LaPiace criterion

Which of the following is nar & principle of TChA?

Al eonlinagus improvement

By ¢upanded trmining for all cmployses

Cy  quality as an imporcant aspect of strategic planning

Y steict adhesense to produstion sehiedules is of paremount
importancs

- In identifying problans with quality, a flow char?
A)

is based gn Juran's finding thar mpst quality probleams
resoit from o 2w canses

is a diggram of an operation or procass

is a capse-and-effect diagram

is & graph showing how two variables relabe to each ofter

B)
<
D)

In jdentifying problems with quality, a seatter diagram

A) i based on Jurn's Snding that neost guality pmhlr.ms ~
result from & few canses

iz & diagram of an operation or process

is & cause-amd-effect diagram

Iz 2 graph showing how two variables relate to each other

2)
C)
o)

Which of the following is net true coneerning the IS0 9000%
A)  The IS 000 commiltes establishes generic quality
. sandacds for ma:mfa.cturmg ﬁ;ms worliwide.
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The 150 HKH commiltes is 2 govemnment organlzaﬂcn
that is a subset of the Undted Maons, -

The 18O SKr is a goide for using the other four standerds
in the series 9001 Hrangh 9004,

The 15C S0 does not vell management how to meet
requirerenis but does indfcate what I required,

Which of the follgwing statements concertiing Satistival
process cofiteol is tue? _

A)  SPCiovolves taking & random sample 1 determing if a lot

i$ actoptable, .

8PC is used extensively i the 1.5, but acceptancs hag
boen st in Japan,
SPC is ar: approach which direstly conflicts with TQM.
BPC iz a togl waed o prevent poor quality.

InTQM -

A} supplicrs arc cxpecied to deliver quility pars

BY the focus is to make certaf quality is achieved during the
produstion process -

the aperator identifiés quality prablems and makes the
DECESATY StnTections

all of the above

H)
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Which ofthe fbllowing stabements is troe?

A} Acceptance sampling allows for some mcptahlc lovel of
poor quallly,

SPC is used 1o determine the quality oF raw materials
priar ko the beglnalag of the preduction process.
Arcepiance sampling i3 a critical component of TQM.
SFC [s one of the most mportant wols in sccepiance
samphing.

B
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B

_For a c-chart, a defect is-

any seratch, nick, or other blemich dat wmakes the ilem
tess desirable

ofily the defects that meke the itsm wnusable

oty the defects that cannot be =pained

aly the defects that can be repaired

A}

B)
Ch
o}

The 1evm which reflects an accepable proportion of defecis ina
[ot 1o the consumer is
Al AQCG
B} LIFD
Cy oo
M alQL

Which of the following is e conserning produccr’s rizk?

A)  Producer's risk i5 the probability of acespting a Yot in
which the fraczion-cf defective Reing sueneds the LTPDL.
Producer's risk is measured by the Gresk symbol "beta,”
Predwesr's risk decreases as the sample sizs 15 decreased
and acceplable number of defiects is kept constant.
Mane of the gbove statements are n-ue;

B}
C

L)

Which of the fallowing statements -:.on-:mmg "ConEE's
risk" i5 falsc?
A) Increasing beta will reduce consumer’s risk. |
B} Consumer's risk is the probability of refecting a lot thar
has an AQL.,
T} The prabability of consumer's risk is cunmnnl:.r measured
as a Type [ emor.
Oy Allafshe sbove stalcrnents are false,

Which of the following guud:hn:s for developing an 'BC curve
aretrue? -

A)  To make the OC curve ﬂaner, hold ¢ constant a.m:[
dexrcase sample size,
T make the-0OC curve siceper, bold ¢ constant and
increxss sample size,
Ti» make consumer's risk hlghr.r, huid I mnstam and msz
the valise af v,
All of the above ars wue,

B}

]
L}



VA
ik

15

21

22

23

25

27,

IREWARS L& RE:

Which af ihe fodlowing does sorinvolve the quality design
process?

Ay peducing the G requred o deslgn a new product

B) minimizing the revisiows necassery to make & workable

design

) ensuring that castomer requirctisiits Are mct

) being first to the market, even though the Jesign may ol
he perfoct

Which of the foliowing refers to dismantling a competitar's
product in order to improve one's own product?

A} cluster dhanting

Bl benchmarking

C}  reverse enginecring

D coucwrent desim

Concureent dogigh
A)  catls for one stzge of design to'be finished before another
begins ‘
B) calls for the marufachurst 10 prepare detailed design
desisions of all componsnt parts )
) usesthe"eost plus” approach te sef prices -
D} detmands complex scheduling technlques

A block disgram is

A} a formet for displaying manager's prefirences for
department locations

B) aschematic disgram that ises weighted lines to deots
lpcation prefrence

C)  awpe of schematic layout diagram thet mnluﬂas space
requirsmeaits

D7 anetwork that deseribes restrictions on the srder in which

" work gements must Be penformed

Which ufﬂw following stalements is Ge commmg line

badancing?

A) Increasing the output rate may JmmmeMMlcaJ
mialmue: namber of stalions.

" By ‘Theefficiency of the asscmbly line is optimal when 1he

number ¢f workstations is maximized.
) [nereasing thie cuept cats will increage e cycls time.

D) The theoretical number of worksiations I usually higher

tham the acmzl number of wotkstations.

A group technology technique that reorders part raulieg
madrices 1 identify families of parts with simifar progessing
e iremenls is called

A) block diagramming

B) "line balancing

¢y production-flow pnalysis

I rolxed-medel sequencing

The Intetnes and the supply chain ere
A} ¢hanging the fundamental nature of doing busingss

B)  blarring the traditional reles of nanufacturers, distribuets,

and suppliccs
C) breaking down geographlcal barvices
DY all of the above

" Which of the following is wue conceming the weighted moving

average?
AY The oldest data wilt generally be given the greatsst

weight.

B} §fthe weighted moving average forecast is 57.3, then the
fingl forecast must be rounded vp to 58,

C) If the most resent perlods are too heavily wmg]m.d, the
forecast might overreact.

I The weighted moving average is usuall:.r TGN aoourale
than # sinple mo-.rmgavmge.

Which of the following is tm-ncunn:rnmgihc mrpﬂnmllal
smacthing techolques? - -
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A} Expopential smogthing is notas popular a forecasting
mcthod as the simple moving average. -

By Exponential smooliting requires complicated

mathemalics.

2} Exponeotal smoothing weights oldar data more h:ﬂ-‘h‘ll:{

) Exponential smoothing cequires minimal dala,

Which of the following is tue :-:muming the snothing
constant used in expanential smoothing? |

Ay Halpha= L, thers will be less snoothing.

B) Ana]phnvalus=.4m=ausﬂmforecmtibﬂh¢nmipmod

is based on 4085 older data and 60946 recent data.

C) If alpha =, the forscast for this period considers only the
st recent idata

D} The most mnﬂmmy used values of alpha are hetween 0
and .64,

Thiree forecasting models, ail using the same dela sct, are beliog
compared via their MAD values, The MAD value for Model X
it 25,6, Model Y i520.4, and Model Z i= 15.2. Which
forecasting madel is consideared the bast?

A) Model X
B} Maode Y
) Model Z
D% Additional information is needed.

il

If the cumulative error far a Gorecasting mode] is large and
negetive, then

A) the forecasts have all been too low

B) the model is forscasting boo Jow

C)  Ihe forecasts have al] been 1oa high

¥ the model has bean foracasting 100 high

When using a tracking srg.ual action {5 aken when ﬂmt‘ac}:mg
sigal velue is

AY close o zZeno "'
B) becomes negative - .
C}  beoomes positive t
3] iz sbove same positive Timiz or below some neg;axw: limnit

All of the foklowing sm:mmts CORCEMIOE, iovenbory
mmgﬂmml are brae except

A} inthe past, companies could afford ta maintain geiermus
invemory levels and not worry so much about ¢ost

B) the cast of inventory bas increased Iargelg.r dm: o pmdm:i
oheolescence

) the average oost of mannfactiring gmﬂs inventory in e
1J.5. is obout 3075 of the value of the invetory

[ maximizing the ameunt of inventory has beoome an
imporiait objective of inventory management

When & company places an order for the sams quantity
whenever inventory desreases to a reorder point it is not using a

A} conlinuous inventory system

B} fied-prder-quamtity inveatory systent
C]  perpsival inventery system

Dy periodic inventory systsm -

All of the following stalements conceming ABL analysis are
trug eweapd -

A)- Class A items desnand higher safety stock
B] Class A ilems require sceurale demeand forecasts
< - Class C ltems generally have fower carrying costs

. DY Class A items requite a continuous inventory sysio

Which of the follewing stalémenis concsming the EOQ model
with aerinstantaneous receipt is troe?

A) Ifd=pthen this model reverts 1o the basic EQC modai.

B} The dally rate of demand roust be greai:rihau the dadly
produgticn mate,

€y This model differs from the basic BOQ model because it
ingorporabes the possibllity of shorages.

I The ordering cost component in this mode] 15 the same as
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suiBisisnt to meet expeetsd demand is called the
A) service [owel

B} ‘safaty stock

Cy reorder poimt

D} steckout

Al of the following are major Inputz io ﬂie MRP prnm.-;s EXCED

Ay work ordexs

B) master production schedule
C) taventory master file-
I product structure flis

Al of the following statzments conestilng the mastr
production scheadule are true axccpe the
A)  MPE does not cansider specific rescures nesds and may
actually produce an infeasihle schedule
B} quantilies on the MPS represent Jemand forecasts, not
prodiction plans

) quantitieg on the MPS may only be pradictions, not aciual

cusbomer onders
[ quantitics on the MEE may undergo many revisions
before the gchedule is completed

Which of the following is the mput that is said 16 "drive® the
MEP system?

A)  inventory master file

B} copacity roguirements plan

Ch  master production schednle

M prodoct strecturs file

The specialized BOM that &5 appropriate when the product is
manizfactrsd in major subassemblics that are later assemblad
into the final product is called a

A b=t

By maodular bill of matedsl

C)  phantom bill

¥ summarized hill of marerial

Which of the following statemenis n::nm‘:emmg CRP and
overioading is trne? .
A} Revising the master production schedule shoutd be
considered before other aptions such as rerouting jobs to
albtmative work cenlers.

" BY Overlosding can be sased by increasing the percestas of

rewrark necessary.

C}y [fthe planner in chavge can identify the copacity problem,
CRF can solve it

D} Capacity planners will typically use opiions they produce
& Feasible plan rather than spend time 2o find the eptimal
o,

A of the following peablems heve boon associarsd with MEP

excer

A} MEP plans material rﬁqulrcme:rts first, with capasity as
an aftethousht

B) MRF assumes that Lot slzes will continue unchenged or
that they have no-bearing on lead tima

) it can take as long to record the procsssing of an item as it
does toactually process il

D) using MRF 1] to conduct "what if7™ questions to
coordinate goinpany stralézy

EPR. updates MEP 1L by using:
A} relationy] database managemaent
B} graphical user interface (G0}
}  clientfaerver architéctore
L all of the above are part of ERP

Which of the foI!nrmg smmnms cnnpemmg the assfgmment
method of al.lma.tmn iz true?.
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A} The assignmmt tethiad can be used for minimizdng costs
bast oot for maximizing profis.

B} The assignment method docs not guarentes ur.rllmahl;}r in
minimizing & maximoun value.

) Anoptimal soluiion is reached when the number of
cofumns is equnl 1o the rumber of rows i the matrix

D When the sllocation minimizes fhe sum of assignment
values, if is refzred to a "botfloneck™ problem,

Which of the follawing slatements is true concering chamgss in
the number of kanbans needed?

. A} Ifthe peocent of safety stovk factor doubles, the number

of kanbans needed will doubls.

B) Ifpverags demand incrsises, the number of kmbans
necded will decreasa,

) Ithe contaiver sizs is netdused by half, the numbey of
kanbans ascded will doubie.

L} Ifthe time it takes to recsive now umils is reduced by half,
the number of kanbang needed will increase by hatf

Which of the following statements soneetning smell lot

production is trus?

A} Small-lo production allows processes b be physically
choser togather

B) Workers producing units in small lots tend to let pagr
quality pass.

<) Small Iot production makes processes mors mdependent
ofcach other )

I3} Insmall lot production, quality problems are more

- ditficalt o detsct.

Which of tha following is Aot a way t0 reducs sclup Bme?
A)  scparate setup asks into those that can be perforrsd
whils the meching is mnning and those that caneat
B} etnvert as many external semps inba internal setups as
possible
€] organizs the workspace bylnm:ng tools and dies near
their points ofuss

[¥}  perforo setup activities ih pasallel

Which of the following is naf troe eonceming mixed mode)
assentbiy?
A)  Mixed model assembly treans at least some quanm}- of
every fiem is produced daily.
BY MMized model assembly supports the pull system of
production. ]
C} Mixed model assernbly demands larger component
inventories,
Dy Mixed model assambly esslsts the company in sesponding
to variatons in dernend.

Since ﬂleaxivmt of IiT, all of the foilowing have become trends
in supplier policies axagp

A) locate near the customer

Bl uszlarge trucks 3o doliver mived loads

)  establish smail warshouses ncar customers

) psestapdacdized containers

Total preductive meinitnance inclugdes all of the following

erept '

A} cmphaesis on e mechine operator's role in rrmmta:mng
Ha equipment

B} rcoltecting dals and identifying signs of deterioration prior

b failune

C)  designing prodycts thet cen be producid on cxisting
machines

0% all of the sbove arg part of TEM philosophy
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